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1. The of the singer’s new album hit the market and made a ;g@;gﬁéfé‘“ﬁs sale
(A) release (B) dismission & ) g §' C§ 5ﬁb1ic (D) consuming
. . % § A e
2. Kent went to bed instead his work. e - i g
(A) finish (B) going to ﬁnis?%ﬁ » '%gg%%gecggof finishing (D) finishing
£Es in V’%&» 5 i
3. You can make your essays by going tluougﬁ thelf; car if%lly to i%emove all unnecessary words.
{A) oplimistic (B) eccentric . %g “C) excqs__;;lve (D) succinct
4. In recent years, most women in Taiwan have been with weight ﬁroblems.
(A) preselected (B) preoccupied (C) prepared (D) preferred
' R %‘?z??@“' Jﬁﬁ‘?%E 1 R . .
5. Modern couples struggle with problems, w]fgch“‘ls*-' dantental.in families where children play an important role.

(A) fertility (B) futility

i
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6. Although shopping from home is , one shoulglg
(A) appearing (B) appallmg g‘j

7. The suspect realized that if she wanted tobe ___
(A) assailed (B) demoralized |

8. According to legend, vampires are

(A) incoherent (B} immaculate
9. The taxi driver was so that he charged his own.r
(A) mercenary (B} amiable &
—EBRARERTOELRLEGHER (10~128)
10. When the teacher walked into the classroom, there w égﬁ_
students. ) § o
(A) discussion (B) lecture é 7

11. The peddler struggled under the weight of the pots 2 a%d pans he'w:
(A) traveling salesperson (B) restaurant chef

12. At the turn of the seventeenth century, people considered it heresy
revolved around the sun, not the sun around the earth. E

{A) more proof for what was already believed 48
(B) an opinion different from established belief ~ “**
(C) a forgivable mistake ot
(D) a wonderful discovery w5

Z AR (13218 EHRAERA) )
13. Two aspects of American society helped the fast’ food f :

boomed in number after World War II.

el i
m%ﬁ’

(D) ingenuity

§gig (D) appeasing

| better hire a detective to find the real murderer,
' (D) absolved

creatures that cannot survives daylight.
(C) nocturnal

(D) conventional

(D) wary

ng on that he had to shout to get the attention of the

(D) bad smell

to sell as he carried them from door to door.
ge student (D) police officer

when the astronomer Galileo announced that the earth

ff in the 1950s—teenagers and cars, both of which

(A) taken (B) took (D) take
14. The peasant farmers till the Nile delta still work in the ancient ways of their ancestors.
{A) which (B) who {C) whom (D) in which
15. Rarely last longér than a few minutes.
{(A) do earthquakes (B) earthquakes (C) earthquakes that (D)} earthquakes do
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16. “Isn’t it hard to drive downtown to work?”

“Yes. That’s why I by train.”
{A) have been gone (B) have went {C) have been going (D) will have gone
17. The boss requested that Mr. Wang the work by Friday. .
(A) finish {B) was finished . (C) finished (D) had finished
s gé?i”
18. In floods, life is difficult, I wish it so hard, grasg 87 o 8
{(A) wasn't (B) isn't - (C%)z;%f\reren‘t (D) doesn't be

19. In many parts of the world, cell phones are more than

(&) means B amean gy g = (gagmeagmg (D) a means
Y
20. In his opinion, if he'd listened to his parents, he & ’_:bﬁeﬁgécisiongég
(A) would make some (1) had made several »Jg #(C) has ﬁr‘”a.de several (D) would have made some
21, Only six train stops away from Taipei , an industrial city with three major universities and other smaller colleges.
(A) the city of Chungli lies there (B) lies the city of Chungli
{C) do lie the city of Chungli 5 (Df).gw;h@fé‘ithe city of Chungli lies
e TR
= A HARSHRRNER (2B o R i
22. If you want the groceries delivered to your place, theyjél charge yoff?fo fﬁ"l@% of money. 1 always take my car and bring the
(A) S @yge O ©)
groceries home myself. % m%g% L §
(D) B . :
'i -
e E T .
23. She has been changed a alot since she was promoted to'f efd‘aﬁl%._gﬁt direg Fojr Now she doesn’t even want to have lunch with us.
(&) @) - © )
B« MR (24-50 1) T
Passage #1 '
What is it? This treatment uses touch to apply, %aes%r%ggﬂheﬁﬁ%dy s skin, muscles, tendons and ligaments. The idea is to
iy

ease disorders by relieving tension, promoting blood ﬂow calmmg thegr ervous system and loosening muscles. Massage therapy
now encompasses countless techniques, including SW%&ISI] xgshi‘ tﬁlﬁ%ﬁi Rolfing.

Is it effective?  Yes, according to researcher M?.ma I-{{%%g;n%ggz-Relf of the University of Miami’s Touch Research Institute,
“There is a relationship between stress and our 1mmu:%e syst%rr%s she gays. The institute has found evidence that massage may
reduce the amount of the stress hormone ceortisol. Res9archers SPSCU]d that a reduction in cortisol allows the immune system to
spring back. éﬁ’ gg 2 § }

Researchers are also trying to determine if massage can have sp% cific benefits for children with asthma,

24. The alternative healing described here applies to heal.
(A) needle (B) herbs “§ (G).touch (D) breathing
SEEE G,
25. The purpose of this treatment does NOT include w-gé@-%j‘s;%- : &éﬁﬁ%‘-‘igﬁ Bl
(A) loosening muscles T (B Mligg;ng tension
(C) improving blood flow e ‘wg;%gﬁg barren women pregnant
26. According to researchers, our tension may result fromg %%ﬁ'&wﬁgﬁﬁ%&%
(A) our diet £l @ :':cﬁ'if’isle eping habits
(C) hormone called cortisol ? (D;ﬁgmglmnqit;on of the liver
- B R
o ]
27. According to the passage, massage has a perspective of 4 . zﬁ
(A) reducing pain (B) curing insomnia
(C) improving breathing problems {D) healing indigestion

28. The above passage is about
{A) an argumentation for the benefits of massage (B) a description of how massage works
(C) a defense for the practice of massage (D) a contrast of different causes for stress
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Passage #2
What most people think of memory is, in fact, five different categories of memory. Our capability to remember things from,
the past, that is, years or days ago, depends on two categories of memory—remote memory and recent memory, respectively.
Think back to last year’s birthday—what did you do? If you can remember that, you are using your remote memory. On the
other hand, if you can’t remember what you ate for lunch yesterday, that is a problem with your recent memory. But there are
also other situations in which we use our memories. When taklng a testffgwe need to draw on our semantic memories, the sum of
our acquired knowledge. Or if we want to remember%géo r use%sdmethmg in the future, either minutes or days later, this uses

our immediate and prospective memories, respectivel 4?@%‘% you géﬁferﬁ@%g”tg remember a phone number that you got from the

operator, but then forgot it right after? That would Beh a.gultyw Eﬁe&&%t%memory But if you can easily remember to meet your
EE 2

friend for lunch next weck, it means that at leastwaurﬁp%s,pectl emor%r is in good working order.

Many people think that developing a bad mif%ory 1§ una%ldable % we get older, but this is actually not the case. Of our
five kinds of memory, immediate, remote, and prospective (1f§added with cues like memos) do not degrade with age. But how
can we prevent a diminishing of our semantic, recent, and unaided p%‘ospectlve memories? The secret secems to be activity.
Studics have shown that a little mental activity, like learning new things or even doing crossword puzzles, goes a long way in
positively affecting our memories. Regular physical act1v1ty appemgitoglgg able to make our memories better as well, possibly
due to having a better blood supply to the brain. The ’;‘me

oy
bodies release a hormone called cortisol, which is har{gléffill 0 OUr brﬂam«eells and thus our memories.

hg togxmdﬁaﬁ?ll costs, though, is stress. When we are stressed, our

asztdl T
29, What is the main idea of this passage? §§ wa“’%%gg@ ‘ ‘%
(A) Functions of brain chemicals. %% xlg) Tncksgfor recognizing things.
(C) How to stay active. § ,‘ng(;]}) Types’fef human memory.
30. Which category of memory would you use to remem f  car key”‘ are?
{A) Immediate memory. (B) Recen memory

(C) Remote memory. (D) Sem t1c memory.

31, According to the passage, which of the following would positively affect your memory?
(A) Watching TV. Gresrity (B)an 1] ,gg properly.
(C) Sleeping. Qg (D) En aglng in different activities.

32. According to the passage, which of the following is NO" A} gﬁ’g
(A) Some kinds of memory are not affected by age. ¢ B) Stress makes us forget more things.
(C) More blood flow can degrade our memory. = é())yPhy"smal activity and having a good memory are connected.

o g% ‘:ﬂm

33. What is the closest meaning to “secret” in the second g %
{A) A hidden thing. ‘ ( B)Ap private thing.
{C) An unexplainable thing. ‘é% (Dyas Aéfc essful method.
@
Passage #3

Most people hate spiders. But few consider that spiders are intelligent, inventive and good friends to people.

Spiders have highly developed nervous systems cir briins are capable of remembering, and they are remarkable
engineers. They can be found living anywhere frogﬁZZ Ooogeetga'ge% séa level, on Mount Everest, to 2,000 feet below the
earth's surface, in caves. 3

? ?

. %ﬁ?& o

It %ng Strg ggﬂl :shiperior to most flexible products made by people. These

3 i%% Assmices” The%bola spider, instead of making a web, constructs a
‘6; aglobiiigo %

i
gpider's next meal.

(‘D‘@ﬁs

The silk that spiders spin for their webs hast it

‘wzaas%‘m

webs have been known to entangle and hold anlmal

silken trapeze, which hangs from branches or tw1gs “"“It gt%

4
passing insects. Any insect that gets stuck to the swmgm%g bal%?mgomesﬁth

1cky silk to the end of the trapeze and casts it out at

One Eurasian species of spider actually travels underwa er by carrying a tiny bubble of air with it. Its home is a cozy diving
bell constructed from a tightly woven sheet of silk, filled with air bubbles,

Many scientists feel that without the spiders, human life would be in danger. You see, most of a spider's energies are
devoted to catching and eating insects, Without spiders, insects would muliiply and cover the earth, destroying the vegetation. It
has been estimated that each year spiders in England destroy an amount of insects equal in weight to the human population of
that country!
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34.

35.

36

37

38.

39.

40.

41,

42,

The best title for this passage would be

(A) What Spiders Eat (B) The Spiders with a Trapeze
(C) The Future of Spiders (D) The Fascinating Spiders
The bola spider
(A) lives underwater T (B) constructs a trapeze
{C) catches mice in its web i g, (D) c%mes 1 tiny air bubble
R gg-g EeE s
. We can conclude from the passage that . %%‘ 7 % | .
(A) people should appreciate spiders more qméwgm (B);%M ?zy;@il”ﬁoon be more spiders than insects

(C) spiders are smarter than human beings : .Wﬁ%ﬁg[)z}all splders can live underwater
T g%f e
. According to the passage, which of the following is NOT me%; )i i §3§
(A) Spiders have highly developed nervous systemsé?” | g(B) Sp1ders live everywhere but Mount Everest.
{C) Spiders have memory. (D) Splders help maintain the ecological balance.
¢

Passage #4
The news of the merger of a top Chinese PC company Lenovo&and IBM’s PC business made headlines when it was
s
amounced last December, Lenovo, formerly known as. | Lé end aswtogbuy the mighty IBM’s PC Department, whose annual

sales are $9 billion, for a small fee of $1.75 billion. Aﬁ;er tﬁe new: was%made public, many people in the US were concerned that

e

the merger would lead to job losses and comprormse natlo%alm g%ﬁf’ity ome American congressmen vocally opposed the deal
i
and called for the government’s action to stop the menger Bé._%t af%er arevi g gv the Congress gave the merger a green light.

For Lenovo, the merger is widely seen as bold dhd risky. % PCg :busjmess is seen by many as a sunset business. However,
gmth annual sales of close to $12 billion. And Lenovo

by the merger, Lenovo would become the world's t}?ird bléégﬁé%@"
will get the international exposure it desperately wants IBM, %neaﬁ%h%lae, will be free to focus on its other more lucrative
businesses such as chipmaking and selling high-powered servers and storage systems. The company’s PC branch has barely

3»

managed to break cven in recent years. No longer profitable, IBM is anxious to dump its PC unit. The merger, therefore, will

gthaiwgwﬂi deserve the IBM brand. The company has long been

Igot care
1t
%ﬁ 5
Which of the following statements is NOT truc? :
(A) IBM’s PC business is still very prosperous in rece t § E
(B) By acquiring IBM’s PC business, Lenovo will be a ble to compete ngiternatlonally
(C) The future of Lenovo might not be as promlsmg;as the company‘beheves it would be.
(D) American lawmakers asked the government to interfere with the salé of IBM to Lenovo.

benefit IBM in the long run. As for Lenovo, it has; g @gmv §

associated with cheap products and inferior technolo ' 1, the merger may prove to be the beginning of the end

EEAEA

of this ambitious company.

. . e
_«ﬁwwm%swm_ g
«»@;

Priciiey LA ER A

‘Which of the following words best describes the author’s tone'?
(A) Tronical. (B) Critical. 33 (@)% ?ptlg%};suc : (D) Skeptical.

s m% »
The author says that the PC industry is a “sunset busme§ 2] Whaﬁﬁo you, %hmk the phrase “sunset business” means?
(A) People are not confident with PC products anymore. | 1% %"*z“g‘“ §
(B) By selling its PC business, the sun is setting fotithe & ‘M ggm 5
(C) The IBM’s PC may prove to be a liability instead og" mor ; 2as°"s“%:t§or Lenovo.

ymlking i,
(D) The PC industry has not much room for growth Eiljé %prov% hent. — %3’

Pt £ §
Which of the following reflects American people’s concée%n re§ard11§1§ ﬂle%f[BgM sale?
(A) American people feel that IBM is sold too cheaply to‘ithe Chinese company
{B) American people are afraid that the Chinese company will intrude other industries.
(C) American people believe that national security may be threatened.

(D) Lenovo’s technology is worse than that of IBM.

5
s

3
£

Vi

‘Which of the following words does NOT reflect IBM’s aititude toward the sale of its PC department?
(A) nostalgic (B} relieved (C) eager (D) keen
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43, What does the word “lucrative” mean?

(A) important (B) profitable (C) excellent (D) specific
44. What does the phrase “the beginning of the end of this ambitious company” mean in the last line?
{A) Lenovo may begin to fall apart. (B) The end of the IBM sale is finally in sight.
{C) It’s seeing the end of the tunnel. " (1)) The company w111 feel happy having finished the deal.
T
Passage #5 <& mﬁgié =
The following excerpt is adapted from an article writte b co-discoverer of the structure of DNA and Nobel
o %gﬁﬁ’
Prize laureate of medicine. g

Though most forms of DNA manipulation are;%not%e%echﬁelyﬂre Lﬁ d now, one important potential goal remains blocked.

Experiments aimed at learning how to insert functg?;l:ial ene&tigématenae(%mto human germ cells—sperm and eggs—remain off
limits to most of the world’s scientists. No governmental body wants Eﬁgtake responsibility for initiating steps that might help
redirect the course of future human evolution. These dec131ons reflect W1despread concerns that we, as humans, may not have the
wisdom to modify the most precious treasures of all human bemgs—our chromosomal “instruction books.” Dare we be

entrusted with improving upon the results of the several million ygalés of ] %arwuuan natural selection? Unlike many of my peers,
g AR
I'm reluctant to accept such reasoning because we sﬁ@ﬁﬁ not postpogw experlments that have clea:rly defined future beneﬁts for

fear of dangers that can’t be quantified. . Movmg ﬁﬁarﬁ will rigot bg

failure, et it be because our science is not yet up to th _]ob”’

45. What best describes James Watson’s main idea in this ggassage
{A) Governments are not cncouraging scientists to st} y evoluti

(B) Darwin’s idea of natural selection cannot be challeﬁ;{gged b {mﬁc 1 expenments

{C) Human beings are not yet ready to handle the congsequences of expen 'ents on chromosomes.

(D) Politics is hmdermg scientific progress that may b%ng benefitsito fuulre;;generatmns

46, Which of the following is true?

(A} All forms of DNA manipulation are encouraged by law. s EEAE
(B) Scientists could basically do whatever they want mfhzgenegexpenm% nits, with only one exception.

(C) Scientists must remain in a block if they want to st&ﬂy genes; W%ﬁ‘%
(D)} Scientists are incapable of initiating the expenment i 'nﬂfﬁn‘i‘gaﬁ germ .ells.

47. Regarding people’s concerns about germ cells experime 1ti"2WElC}i§0f thé ollowing statements is NOT true?

(A) Human beings probably are not able to afford the ¢g nsequeéwes of the human genetic experiments.

(B) Governments are afraid that, if they allow the experl ‘ments, éscientlstg may force humans to move toward and evolve on an
unnatural path. i S el

(C) Our chromosomes are very valuable, people should not try to proﬁ’eﬁ n them.

(D) Trying to manipulate human genes and hence affect the course of natural evolution is dangerous.

48. Which of the following statements does NOT reflect James Watsons attitude?

(A) In the next century, scientists probably will fail to inseft; g%netlc%é;atena}gs into human germ cells.

(B) Experiments on human germ cells should not be&dela§ed sppgbinss
(C) Scientists are not responsible and may create monsters .
(D) The dangers that people fear regarding evo]utmngm tfneve

2
49, What do you think the phrase “off limits” means? ﬁé’%
(A) Forbidden, (B) Doubtful. 47 | (D) Unlimited.
50. What does the phrase “to modify ...our chromosomal %gﬁstructlon books nean?
(A) to learn genetic science v (B) to change our DNA
(C) to realize the course of evolution (D) to help teach chromosomes

(O



